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i

# setc/fstab

# Created by anaconda on Tue Feb 25 08:52:01 2014
il

£

£

Accessible filesystems, by reference, are maintained under '/dev/disk
See man pages fstab(3), findfs{8), mount(8) and/or blkid(8) for more info

£

UUID=8926dc22-e71d-4623-8726-306e75711283 / ext4 defaults i

UUID=Beaeda73-bdc3-43a2-94a2-8148e80e2b79 /boot extsd defaults 12
56a3977-7912-4426-b%b4-276471cA0899 /home extd defaults 12
215d9f-8a27-411b-8996-059487879dbY swap swap defaults 06

fdev/shm tmpfs  defaults e a
/dev/pts devpts gid=3,mode=620 @ @ 1
/5¥5 sysfs  defaults aa
/proc proc defaults (¢

5. swap 7|5 $41 & AET

swapoff /dev/md# - swap TtE]M ®H3S

shutdown -r now

6. MY & dfS Y5l /homer} swapo] LA t=A] =l

root@KMTN1L1:~
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[root@KMTNLIL ~]# df -h

Filesystem Size Used Avail Use% Mounted on
/dev/mdl 62G 236 360 39% /

tmpfs 1.9 4.8K 1.9G 1% /dev/shm
Jdev/mde 985M  74M B6IM 8% /boot

Jdev/sdcl 2.0G 934M lez2eM 48% /media/144B-14DE

[root@KMTNLIL ~]# ]
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[root@KMTN11l ~]# fdisk /dev/sda

[The device presents a logical sector size that is smaller than
the physical sector size. Aligning to a physical sector (or optimal
I/0) size boundary 1s recommended, or performance may be impacted.

WARNING: DOS-compatible mode is deprecated. It's strongly recommended to
switch off the mode (command 'c') and change display units to
sectors (command 'u').

Command (m for helpl: p

Disk /dev/sda: 258.1 GB, 250059358816 bytes

235 heads, 63 sectors/track, 308481 cylinders

Units = cylinders of 16063 = 512 = 8225280 bytes

Sector size (logical/physical): 512 bytes / 4096 bytes -
I/0 size (minimum/optimal): 4896 bytes / 4896 bytes

Disk identifier: @x53b3813d

Device Boot Start End Blocks Id System
/dev/sdal 1 1920 8193118+ b W95 FAT32
Partition 1 does not start on physical sector boundary.
/dev/sda2 le21 9179 63536000 fd Linux raild autodetect
/dev/sda3 = 9179 9307 1g24@88 fd Linux raid autodetect

Command (m for help): n
Command action

e extended

o primary partition (1-4)

25. command action e?} pAdHo] L4 QWM Extended TEJM-S HA A§Asfof sta
2 e ¥y & JdH

Command action
e extended
p primary partition (1-4)
e
Selected partition 4
First cylinder (9307-30401, default 9307): | =

26. First cylinderof|A] Qg (7]23F 4H=)
27. Last cylinderd|A] Qg (7]23F 4H=)
28. command (m for help): p Y=5} ojE]ld =

Command action
e  extended
p  primary partition (1-4)

Ji’;

e
selected partition 4

First cylinder (9387-30461, default 9307):

Using default value 9387

Last cylinder, +cylinders or +size{K,M,G} (9307-30401, default 30461):
Using default value 38481

Command (m for help): p

Disk /dev/sda: 250.1 GB, 258059350016 bytes

255 heads, 63 sectors/track, 36461 cylinders

Units = cylinders of 16865 = 512 = 8225280 bytes
Sector size (logical/physical): 512 bytes / 4896 bytes
I/0 size (minimum/optimal): 4096 bytes / 46896 bytes
Disk identifier: 8x53b3015d

Device Boot Start End Blocks Id System
/dev/sdal 1 1628 8193118+ b W95 FAT32
Partitien 1 does not start on physical sector boundary.
fdev/sda2 1621 9179 65536000 fd Linux rald autodetect
/dev/sda3 = SIr9 9307 1024000 fd Linux raid autodetect
/dev/sda4 9307 30401 165441984+ 5 Extended

Command (m for help): Ji
29. swapd} /homef 2 ASst TEJAE T 5 AHXA
swap A A] last cylindergt& +16192Mo 2 A

ot
Lo}
i)
14
ol
e
=)
u
rx
o
ro
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First cylinder (9387-30401, default 9387):
Using default value 93@7
Last cylinder, +cylinders or +size{K,M,G} (9307-304€1, default 30401): +16192M

Command (m for helpl: n

First cylinder {11372-38461, default 11372}):

Using default value 11372

Last cylinder, +cylinders or +size{K,M,G} (11372-30401, default 30461):
Using default value 30401

Command (m for helpl: p

Disk /dev/sda: 250.1 GB, 250059330016 bytes

255 heads, 83 sectors/track, 30481 cylinders

Units = cylinders of 16863 = 512 = 8225280 bytes
Sector size (logical/physical): 512 bytes / 4896 bytes
I/0 size (minimum/optimal): 4896 bytes / 4896 bytes
Disk identifier: @x33b3815d

Device Boot Start End Blocks Id System E
Jdev/sdal 1 1020 8193118+ b W95 FAT32
Partition 1 does not start on physical sector boundary.
/dev/sdaz 1821 9179 65536000 fd Linux raid autodetect
/dev/sda3d - 9179 9387 1024008 fd Linux raid autodetect
/dev/sdad 9387 30401 169441984+ 5 Extended =
Jdev/sdas 9387 11371 16383476+ 83 Linux
Partition 5 does not start on physical secter boundary.
/dev/sdab 11372 30481 152858445 83 Linux

Partition 6 does not start on physical secter boundary.

Command (m for help): [

30. command (m for help): t 4= 5 QlE

31. mEjd I A= (swapd} /homeo g AR umE]/do] ofsiAgt Ad), Hex
code Y&Est= ZoA fd ¥4 & dAF - fd7} Linux raid autodetect THE]AH U-S
Aske 2

Command (m for help): t

Partition number (1-6}: 5
Hex code (type L to list codes):
Changed system type of partition 5 to fd (Linux raid autodetect)

=
a

command (m for help): t

Partition number (1-6): 6

Hex code (type L to list codes): fd

Changed system type of partition 6 to fd (Linux raid autodetect)

Command (m for help): [
32. command (m for help): wq 22 & <llg]

Command (m for help): p

Disk /dev/sda: 258.1 GB, 250059358816 bytes

235 heads, 63 sectors/track, 308481 cylinders

Units = cylinders of 16063 = 512 = 8225280 bytes
Sector size (logical/physical): 512 bytes / 4096 bytes
I/0 size (minimum/optimal): 4896 bytes / 4896 bytes
Disk identifier: @x53b3@15d

Device Boot Start End Blocks Id System
/dev/sdal 1 1920 8193118+ b W95 FAT32
Partition 1 does not start on physical sector boundary.
/dev/sda2 1021 9179 63536080 fd Linux rald autodetect Ei
/dev/sda3 = 9179 9307 1624080 fd Linux raid autodetect
/dev/sdad 9307 38401 169441984+ S Extended
/dev/sdas 9307 11371 16583476+ fd Linux raid autodetect
Partition 5 does not start on physical sector boundary. 3
/dev/sdab 11372 30401 152858445 fd Linux raid autodetect

Partition 6 does not start on physical secter boundary.

Command (m for help): wall :

33. fdisk /dev/sdaS THA] Ad¥sto] p= /e oHE|d =l orof A= Add ot
) ot 3 opAl =l ol slE Teldol of
2 AP 2 2B, /dev/sdab THE)H YA

AR & JRY, /dev/sdab TE]E A4St ARt & 2RF s = 2 old



Hex code&x fd=
34. mE]Mo] B= AFEl LpoiA] SSDE ZREE o] HA|st
35. 28] ©

36. ojn] AY
= =g
# fdisk /dev/sdb

# command (m for help):

37. 27} AAHE SSDo| weldo| gl Helsty £
3 RAID 122 49 sU% e B 0235

Al g8 & AL

el R 2l

T

# fdisk /dev/sda
# command (m for help):

root@KMTN1L:~

File Edit View Search Terminal Help

[root@KMTN1L ~]# fdisk /dev/sda

The device presents a logical sector size that is smaller than
the physical secter size. Aligning to a physical sector (or optimal
I/0) size boundary is recommended, or performance may be impacted.

strongly recommended to
nge display units to

WARNING: DOS-compatible mode is deprecated. It's
switch off the mode (command '¢') and cha
sectors (command ‘u').

Command (m for help): p

Disk /dev/sda: 258.1 GB, 250039358816 bytes

253 heads, 63 sectors/track, 30401 cylinders

Units = cylinders of 16063 * 312 = 8225280 bytes
Sector size (logical/physical): 512 bytes / 4896 bytes
I/0 size (minimum/optimal): 4896 bytes / 4896 bytes

Partition 5 does not start on physical sector boundary:
/dev/sdab 11372 38401 152858445 fd
Partition 6 does not start on physical sector boundary.

command (m for help): [

WY TEHE D5 Aopglix] SHolgh

fo

[root@KMTN1L ~]# fdisk /dev/sdb

The device presents a logical sector size that is smaller than
the physical sector size. aligning to a physical sector (or optimal
I/0} size boundary is recommended, or performance may be impacted.

DOS-compatible mode is deprecated. It's strongly recommended to
switch of f the mode (command 'c') and change display units to
sectors (command ‘u’).

WARNING:

Command (m for help): p

Disk /dev/sdb: 258.1 GB, 250059350016 bytes

235 heads, 63 sectors/track, 30481 cylinders
Units = cylinders of 16865 = 512 = 8225280 bytes
Sector size (logical/physical): 512 bytes / 4096 bytes
I/0 size (minimum/optimal): 4096 bytes / 4096 bytes
Disk identifier: @x191def4e

start End Blocks

Device Boot Id System

Command (m for help): g

[root@kMTNIL ~1# [

Disk identifier: 0x53b3@15d
Device Boot Start End Blocks Id System
/dev/sdal 1 1920 8193118+ b W95 FAT32
Partition 1 dees not start on physical sector boundary.
/dev/sda2 lg21 9179 65536000 fd Linux raid autodetect
/dev/sda3 = 9179 9307 1624060 fd Linux rald autodetect
/dev/sda4 9307 38401 169441984+ 5 Extended
/dev/sdas 9387 11371 16583476+ fd Linux raid autodetect

Linux raid autodetect

ol
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nElde gulst 2Asts] s ohe Pajolg g
# sfdisk -d /dev/sda | sfdisk —-f /dev/sdb = AlS#A|Z|H /dev/sda®] TtE]H-S
/dev/sdbo 2 Ex|st

[root@KMTNLI1 ~]# sfdisk -d /dev/sda | sfdisk -f /dev/sdb

Warning: extended partition does not start at a cylinder boundary.
DOS and Linux will interpret the contents differently.

Checking that no-one is using this disk right now ...

0K

Disk /dev/sdb: 30461 cylinders, 255 heads, 63 sectors/track
0ld situation:
Units = cylinders of 8225280 bytes, blocks of 1624 bytes, counting from @

Device Boot Start End  #cyls #blocks Id System
fdev/sdol ] = ] ] @ Empty
/dev/sdb2 ] = ] ] @ Empty
/dev/sdb3 ] ] a 8 Empty
/dev/sdb4 a a ] @ Empty
New situation:
Units = sectors of 512 bytes, counting from @

Device Boot Start End #sectors Id System
fdev/sdol 63 16386299 16386237 b W95 FAT32 |
fdev/sdb2 16388096 147460095 131072000 d Linux raid autodetect
/dev/sdb3 = 147460096 149503093 2043000 fd Linux rald autodetect
/dev/sdo4 149598096 488392064 338683969 5 Extended
/dev/sdb5 149588159 182675111 33166953 fd Linux raid autodetect
/dev/sdbé 182675175 488392064 305716898 fd Linux raid autodetect

Warning: partition 2 does not start at a cylinder boundary
successfully wrote the new partition table

Re-reading the partition table ...
If you created or changed a DOS partition, /dev/foo7, say, then use dd(l)
to zero the first 512 bytes: dd if=/dev/zero of=/dev/foo7 bs=512 count=1

{see fdisk(s).)
[root@KMTNLL ~1# [

38. P2 AP 3 YR

39. /dev/md0 1} /dev/mdl& raid A&7} Aopglx|gt 179 gAdz AH:

=~

ol t
A A8z FIIeE SSDO| mE]/dZ F7sto] ARl RAID 7|52 & & 9l
2 5fjof ste2 RAID AR

# mdadm --detail /dev/md0

# mdadm --detail /dev/mdl

¢ BFEEZ APstH ofzfjer A2 HIAIX|Z7F Y. /dev/sda32 active sync/dEJo]X]
Ot /dev/sdb3-& removed AME]

ol
MR



root@KMTNLL:~

File Edit View Search Terminal Help

Mumber Major Minor RaidDevice State

] 8 3 a active sync  /fdev/sda3
1 ] Q 1 removed

[root@KMTNLL ~]# mdadm --detail /dev/mdl

fdev/mdl:

Version : 1.1

Creation Time : Tue Feb 25 13:45:51 2014

Raid Level : raidl

Array 5ize : 633031684 (62.47 GiB 67.08 GB)
Used Dev Size : 63303104 (62.47 GiB 67.88 GB)
Raid Devices : 2
Total Devices : 1

Persistence : Superblock is persistent

Intent Bitmap : Internal

Update Time : Sun Dec 25 20:45:17 2016
State : active, degraded
Active Devices : 1
Working Devices : 1
Failed Devices : @
Spare Devices : @

Name : localhost.localdomain:l
UUTD : 9dce4cdl:B868ead420:34aa6b62:bc433500
Events : 189378

Number Major Miner RaidDevice State
] ] 2 a active sync  /dev/sdaz
1 ] Q 1 removed
[root@kmMThll ~1# ]

40. mdO, mdlo] ojst RAID &5 U rebuild A 434
# mdadm --manage /dev/md0 --add /dev/sdb#

# mdadm --manage /dev/mdl --add /dev/sdb#
#ie detailof A U2 ohE]A EH

[root@KMTNIL ~1# mdadm --manage /dev/md@ --add /dev/sdb3
mdadm: added /dev/sdb3

[root@KMTNLL ~]# mdadm --manage /dev/mdl --add /dev/sdb2
mdadm: added /dev/sdb2

[root@kmMTh1L ~]# ]

41. AA|SE RAID mHE}AS A2 Th=ofof
# mdadm --create /dev/md# --level=1 --raid-device=2 /dev/sda# /dev/sdb#
# mdadm --create /dev/md# --level=1 --raid-device=2 /dev/sda# /dev/sdb#
ofgfjet Z2 HAIAZE UYEtHY FIto] y& YstH mpe]do] Add.

[root@KMTN1l ~]# mdadm --create /dev/md2 --level=1 --raid-device=2 /dev/sda5 /dev/sdb3
mdadm: Note: this array has metadata at the start and
may not be suitable as a boot device. If you plan to
store '/boot' on this device please ensure that
your boot-loader understands md/vl.x metadata, or use
--metadata=0.90
Continue creating array? y
mdadm: Defaulting to version 1.2 metadata
mdadm: array /dev/md2 started.
[rootekmThil ~1# 1

]—.

ook
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Spare Devices : @ i

Name : localhost.localdomain:1
UUID : 9dcedc01:868ea420:343a6062:bc433500
Events : 109378

Number Major Minor RaidDevice State
a 3 2 g active sync  /dev/sda2
1 ] 8 1 removed

[root@KMTN1L ~]# mdadm --manage /dev/mdd --add /dev/sdb3
mdadm: added /dev/sdb3
[root@KMTNLL ~1# mdacm --manage /dev/mdl --add /dev/sdb2
mdadm: added /dev/sdb2
[root@KMTNLL ~]# mdadm --create /dev/md2 --level=l --raid-device=2 /dev/sda3 /dev/sdb3
mdadm: MNote: this array has metadata at the start and

may not be suitable as a boot device. If you plan to

stare ‘/boot' on this device please ensure that

your boot-loader understands md/vl.x metadata, or use

--metadata=0.90 il
Continue creating array? y
mdadm: Defaulting te version 1.2 metadata
mdadm: array /dev/md2 started.
[root@KMTN1L ~]# mdadm --create /dev/md3 --level=l --raid-device=2 /dev/sdaé /dev/sdbé
mdadm: Mote: this array has metadata at the start and

may not be suitable as a boot device. If you plan to

store '/boot' on this device please ensure that

your boot-loader understands md/vl.x metadata, or use

--metadata=0.90
Continue creating array? y
mdadm: Defaulting to version 1.2 metadata
mdadm: array /dev/md3 started.
[root@KMTNLL ~]# [

0toF mdadm: Cannot open/........ : Device or resource busy) 9|2{7} b4e+= 73
§ - SSDoj| opE]d FJHIt Foiglo] S5+ 49

a. cat /proc.mdstat 02 md# A =Hol

b. mdadm --misc --stop /dev/md# © =2 ‘Fo}Ql= TE|M AMA|

c. cat /proc/mdstat © 2 md# THE]H BT QoA =R] &9l

42. swap TE]AQ] /dev/md#2] swap 7|52 2/d%}

# mkswap /dev/md#

[root@KMTNIL ~]# mkswap /dev/md2

mkswap: /dev/md2: warning: don't erase bootbits sectors
on whole disk. Use -T to force.

Setting up swapspace version 1, size = 16575164 KiB

no label, UUID=a69a3a23-50bf-47ba-8a02-d@lc8lcadesc

[root@kMTNLL ~1# [

43. /home g 2] T4E]MQl /dev/md#2 extd TtUA|AENO 2 L OH
# mkfs.extd /dev/md#

_’I’I_



root@KMTN1L:~ S
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mkswap: /dev/md2: warning: don't erase bootbits sectors =
on whole disk. Use -f to force.

Setting up swapspace version 1, size = 16575164 KiB

no label, UUTD=36933323-3007-47ba3-8a02-d01cElcadesc

[root@KHMTNLL ~]# mkfs.extd /dev/md3

mke2fs 1.41.12 (17-May-20818)

/dev/md3 alignment is offset by 512 bytes.

This may result in very poor performance, (re)-partitioning suggested.

Discarding device blocks: dene

Filesystem label=

05 type: Linux

8lock size=4096 (log=2)

Fragment size=4896 (log=2)

Stride=1 blocks, Stripe width=0 blocks

9551872 inodes, 38181824 blocks

1989891 blocks (5.88%) reserved for the super user

First data block=0

Maximum filesystem blocks=4294967296

1166 block groups

32768 blocks per group, 32768 fragments per group

8192 inodes per group

Superblock backups stored on blocks:

32768, 98304, 163840, 229376, 294912, 819200, 884736, 1605632, 2654208, i

4996000, 7962624, 11239424, 20450000, 23887872

Writing inode tables: done

Creating journal (32768 blocks): done =
Writing superblocks and filesystem accounting information: done

This filesystem will be automatically checked every 21 mounts or

180 days, whichever comes first. Use tune2fs -c¢ or -i to override.
[rootekMTNLL ~1# [

44. M2 YT FENLS B A AHFOR UFLE SHES UA
# blkid | grep md#

# blkid | grep md#

£ J=¥sh UUID e ¥4

[root@KMTNLL ~]# blkid | grep md2

/dev/md2: UUID="a6%a3a23-50bf-47ba-8a02-d0lc8lcadesSc" TYPE="swap'
[root@KMTNLL ~1# blkid | grep md3

/dev/md3: UUID="415357d6-5672-4090-86Cce-T459691c6363" TYPE="ext4"
[root@kmThll ~1# ]

45. /etc/fstab mAof] £AX2] ¢F B9 UUID 2 $ollA d2 ge= A

E root@KMTN11:~
File Edit View Search Terminal Help

B
# Jetc/Tstab

# Created by anaconda on Tue Feb 25 08:52:01 2014
#

£

%

Accessible Tilesystems, by reference, are maintained under '/dev/disk
See man pages Tstab(s), findfs(8), mount(8) and/or blkid(8) for more info

#

UUID=8926dc22-e71d-4623-8726-306e75711283 / extd defaults 11
UUID=Beaeda73-bdc3-43a2-94a2-8148e00e2b79 /boot extd defaults 12
UUID=415357d6-5672-4090-86ce-T459691c6363 /home extd defaults 12
UUID=a6%9a3a23-50bf-47ba-8a02-d01c8lcadeSc swap swap defaults 08
tmpfs Jdev/shm tmpfs defaults 60

devpts /dev/pts devpts gid=3,mode=620 @ @

sysfs /5ys sysfs defaults o]

proc /proc proc defaults g8

"/etc/fstab" 17L, 908C

46. vi /etc/mdadm.conf TAoA] UUID S x|
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= root@KMTN1L:~ e
File Edit View Search Terminal Help

# mdadm. conf written out by anaconda

MATLADDR root

AUTO +imsm +1.x -all

ARRAY /dev/md8 level=raidl num-devices=2 UUID=b023ab@5:bcbl7dlc:d495Taf2:251Ta8c7
ARRAY /dev/mdl level=raidl num-devices=2 UUID=9dce4c@l:868ea420:34aabb62:bc43350b
ARRAY /dev/md2 level=raidl num-devices=2 UUID=af933a23:30b0T47ba:8a02dolc:81cad4esc
ARRAY /dev/md3 level=raidl num-devices=2 UUID=415357d6:56724090:86CceT459:691C6363

i |
&4t UUID gfoly fstabol|Aet= ®7] o] thE. fstaboll ¥4=siE UUID =
8AFR A fFolA "R UHE. ¢ ARRlEF Zo] swap mE]AQl /dev/md#, /home
oA Q1 /dev/md#oll THshATE HASH &

47. shutdown -r nowz AjHE

48. /home HHH2| mMAZ BF FAY

home TNE2|o|A scp -P 7774 kmtnet@192.168.1%.241:/STORAGE_4TB/*.tar
U5t home UHEYZ tar THIS 27 FARRL

tar xvf 4HS & AP tar 2 Y&HS o
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